
Overall Paper:
Strongest students: good subject knowledge alongside understanding of the most important issues facing the business.
Application:
Application occurs when a response is in context. For example, it relates to the given scenario or the particular issues and problems facing the business or industry.
GAp:
Be firmly embedded in the context. The Arguments made within a response may overall, relate well to the given context recognising key aspects of the situation. This insight into the context may occur in one instance or be a combination of insights that show a good awareness of the specific issues facing the business.
Combining information effectively. Candidate may appreciate the meaning and significance of one aspect of the case in the context of another aspect of the business situation. This combination of factors show a good insight into the context.
Manipulating data effectively. Candidate may use some numerical data in one part of the case and relate this to another relevant and significant figure elsewhere; by combining these effectively candidates can show a good grasp of the context.
Linking two factors - need to respond quickly to market changes, so impact on speed of communication from removing 2 levels from the hierarchy.
Use data provided to make relevant calculations, which were then effectively linked to the business scenario to support relevant arguments.
Analysis
Analysis occurs when students build arguments that show an understanding of cause and effect and may make use of relevant theory.
GAn:
The answer as a whole has analysed key issues in the question well
It is focused on the precise question and provides a logical, coherent, multi-stage argument examining the causes and effects of an event as appropriate and linking the different aspects of the question effectively
It makes use of relevant theory to develop the argument, selecting relevant information
and use appropriate methods effectively to build up the links between the stages.
ran Developed, clear chain chain of arguments, not generic must address issues directly in the question, don't focus on one aspect of the question.
How point could impact businesses actions (productivity, quality, competitiveness, market share, profitability). This will result in the loss off.. This will reduce the firms ability to...
Show both the advantages and disadvantages of the concepts, combined with consistent reference to issues in the case study.
Evaluation
This occurs when a judgement is made. Judgements may occur throughout a response.
Good judgement directly answers the specific question set. It:
provides a clear and well supported overall response to the question set
is built on analysis and evidence and is in the context of the given question.
rev judgments on relevant arguments + question as a whole, must be consistent to arguments made and answers the specific question set.
Evaluative comments throughout the answer + definitive conclusion supported by strong prior analysis.
10 Marker:
Dual Calculation:
Calculations - If it states, calculate, only a calculation is required, not a lengthy analysis.
Paragraph explaining how calculations don't reach, reach or exceed requirements.
Dual Paragraph
Provide a definition

18 Marker:
/
Don't just be theoretical, explain in detail exactly how these benefits would be gained.
Quality over quantity - develop and interpret the significance of the data.
The Report:
/
Key to success: writing a well-structured response.
Selective, well supported arguments both for and against that are consistently in context.
Analysis based conclusion and recommendation + a justified answer to the proposal
Don't make opinion based arguments, should be linked to the evidence provided.
No new ideas in the conclusion, and don't just simply summarise previous arguments.
Ensure each argument is well supported by a relevant calculation and/or case study material.

